\$72,092.45



### **Missouri Department of Transportation** Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2025

Progress Estimate Number 11	Contract ID Prime Contracto	24051 or Koch I	7-H08 Electric, Inc.	Pay Period S Pay Period E		eptember 2, 2025 eptember 15, 202	25 I	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,510,875.30 \$0.00 \$1,510,875.30
Approval Date									By User
September 16, 2025		) at the Project Office Level by	thomar1						
September 16, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer								stottt1
September 18, 2025	Reviewed and Approved at the Central Office Controllers								ramses1
Original Completic	on Date	Current Co	ompletion Da	te Ac	tual Com	oletion Date		% of Current Contract Amo	ount Complete
November 1, 2	025	Novem	ber 1, 2025					86.56%	
	Contra	ct Informat	ional Dates					Milestones	
Date Description	Original Compl	etion Date	Current Co	mpletion Date		No Milest	tones I	Exist for Contract	
Acceptance Date									
Awarded Date	June 5, 2024		June 5, 2024	4					
Letting Date	May 17, 2024		May 17, 202	4					
Notice to Proceed Date	July 8, 2024		July 8, 2024						
Work Began Date	April 10, 2025		April 10, 2025						

Contract Total Pa	y For Estimate No. 11				
		This Estimate	Previous	To Date	
240517-H08					
	Total Posted Items Pay	\$72,092.45	\$1,235,681.23	\$1,307,773.68	
	Gross Item Adjustments	\$0.00	(\$15,375.00)	(\$15,375.00)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$1,220,306.23	\$1,292,398.68	
<b>Contract Total Pag</b>	yable This Estimate:	\$72,092.45			

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSE0169	0030	6169901	MISC.TEMPORARY TRAFFIC CONTROL	LS	\$65,000.000	0.150	\$9,750.00
	0120	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	EA	\$3,123.000	4	\$12,492.00
	0130	9011115	BRACKET ARM, 15 FT. OR 4.6 M	EA	\$1,211.000	4	\$4,844.00
	0140	9011313	LUMINAIRE, LED-C	EA	\$373.000	4	\$1,492.00
	0150	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	EA	\$9,750.000	1	\$9,750.00
	0160	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	LF	\$19.000	77	\$1,463.00
	0170	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	LF	\$30.000	46	\$1,380.00
	0180	9014003	CONDUIT, 3 IN. RIGID, PUSHED	LF	\$30.000	385	\$11,550.00
	0190	9015010	TRENCHING TYPE I	LF	\$10.000	232	\$2,320.00
	0200	9016110	PULL BOX, PREFORMED CLASS 1	EA	\$1,232.000	3	\$3,696.00
	0210	9016112	PULL BOX, PREFORMED CLASS 3	EA	\$2,303.000	1	\$2,303.00
	0220	9017002	CABLE, 2 AWG 1 CONDUCTOR	LF	\$3.750	267	\$1,001.25
	0230	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	LF	\$0.980	480	\$470.40
	0250	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	LF	\$4.600	728	\$3,348.80
	0260	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	EA	\$1,558.000	4	\$6,232.00
Project JSE0	169 - Total						\$72,092.45

### Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 9/2/2025 Page 1 of 12



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2025

Estimat	Progress Contract ID Estimate Number 11 Prime Contractor					September 2, 2025 September 15, 2025	Net Change	ontract Amou e Order Amo ntract Amou	unt	\$1,510,875.30 \$0.00 \$1,510,875.30
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSE0169	0060	MULCHING	Material					-1.55000	\$5,000.00	(\$7,750.00)
	0060	MULCHING	MaterialCredit					1.55000	\$5,000.00	\$7,750.00
	0070	TURF TYPE TALL FESCUE SODDING	Material					-25	\$150.00	(\$3,750.00)
	0070	TURF TYPE TALL FESCUE SODDING	MaterialCredit					25	\$150.00	\$3,750.00
	0800	SEEDING - COOL SEASON GRASSES	Material					-1.55000	\$2,500.00	(\$3,875.00)
	0800	SEEDING - COOL SEASON GRASSES	MaterialCredit					1.55000	\$2,500.00	\$3,875.00
Total										\$0.00

Revision 9/2/2025 Page 2 of 12



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	ion					
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work						
JSE0169	FAS S705(28)	Lighting improvements	60, 63, 67, PP	BUTLER	at various locations in th	e Southeast District						
Totals b	y Job Nu	umbers										
JSE0169		d Item Pay Item Adjustme		tem Pay	This Estimate \$72,092.45 \$0.00 \$72,092.45	Previous \$1,235,681.23 (\$15,375.00) \$1,220,306.23	To Date \$1,307,773.68 (\$15,375.00) \$1,292,398.68					
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 5/29/2025 Page 3 of 12



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8025006, Project Item Line Number 0060, Material Set 8025006, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Contractor has not provided the Certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8031000A, Project Item Line Number 0070, Material Set 8031000A96, Material 0803SO - Sod, Acceptance Action Generic 0803SO is insufficient.	Contractor has not provided the Certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8051000A, Project Item Line Number 0080, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Contractor has not provided the Certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8051000A, Project Item Line Number 0080, Material Set 8051000A96, Material 0805SD - Grass Seed -Seed, Acceptance Action Generic 0805SD is insufficient.	Contractor has not provided the Certification.	thomar1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSE0169, Item 8051000A, Project Item Line Number 0080, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Contractor has not provided the Certification.	thomar1	Acknowledged

Revision 5/29/2025 Page 4 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
40517-	JSE0169	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.90	\$20,000.00	\$18,000.00
80		0001	0020	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	1.00	\$30,000.00	\$30,000.00
		0001	0030	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.90	\$65,000.00	\$58,500.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$50,000.00	\$50,000.00
		0001	0050	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$35,000.00	\$35,000.00
		0001	0060	8025006	MULCHING	1.70	0.00	1.70	ACRE	1.55	\$5,000.00	\$7,750.00
		0001	0070	8031000A	TURF TYPE TALL FESCUE SODDING	25.00	0.00	25.00	SQYD	25.00	\$150.00	\$3,750.00
		0001	0800	8051000A	SEEDING - COOL SEASON GRASSES	1.70	0.00	1.70	ACRE	1.55	\$2,500.00	\$3,875.00
		0001	0090	8061005	ROCK DITCH CHECK	500.00	0.00	500.00	LF	0.00	\$10.00	\$0.00
		0001	0100	8061019	SILT FENCE	1,000.00	0.00	1,000.00	LF	0.00	\$4.50	\$0.00
		0020	0110	9011010	RELOCATED POLE	1.00	0.00	1.00	EA	1.00	\$5,500.00	\$5,500.00
		0020	0120	9011062	LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT DESIGN 2	76.00	0.00	76.00	EA	64.00	\$3,123.00	\$199,872.00
		0020	0130	9011115	BRACKET ARM, 15 FT. OR 4.6 M	76.00	0.00	76.00	EA	64.00	\$1,211.00	\$77,504.00
		0020	0140	9011313	LUMINAIRE, LED-C	96.00	0.00	96.00	EA	90.00	\$373.00	\$33,570.00
		0020	0150	9012230	BASE MOUNTED CONTROL STATION 240 VOLT - 4 CIRCUIT	17.00	0.00	17.00	EA	17.00	\$9,750.00	\$165,750.00
		0020	0160	9013002	CONDUIT, 2 IN. RIGID, IN TRENCH	666.00	0.00	666.00	LF	650.00	\$19.00	\$12,350.00
		0020	0170	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH	645.00	0.00	645.00	LF	601.00	\$30.00	\$18,030.00
		0020	0180	9014003	CONDUIT, 3 IN. RIGID, PUSHED	5,610.00	0.00	5,610.00	LF	5,285.00	\$30.00	\$158,550.00
		0020	0190	9015010	TRENCHING TYPE I	10,336.00	0.00	10,336.00	LF	5,394.00	\$10.00	\$53,940.00
		0020	0200	9016110	PULL BOX, PREFORMED CLASS 1	67.00	0.00	67.00	EA	59.00	\$1,232.00	\$72,688.00
		0020	0210	9016112	PULL BOX, PREFORMED CLASS 3	19.00	0.00	19.00	EA	19.00	\$2,303.00	\$43,757.00
		0020	0220	9017002	CABLE, 2 AWG 1 CONDUCTOR	2,750.00	0.00	2,750.00	LF	2,610.00	\$3.75	\$9,787.50
		0020	0230	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE AND BRACKET	8,910.00	0.00	8,910.00	LF	7,561.00	\$0.98	\$7,409.78
		0020	0240	9017404	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 6 AWG	5,760.00	0.00	5,760.00	LF	0.00	\$5.40	\$0.00
		0020	0250	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS AND 1 BARE NEUTRAL, 8 AWG	12,990.00	0.00	12,990.00	LF	11,374.00	\$4.60	\$52,320.40
		0020	0260	9018245	POLE FOUNDATION (45 FT. OR 13.5 M MOUNTING HEIGHT)	77.00	0.00	77.00	EA	65.00	\$1,558.00	\$101,270.0
		0020	0270	9018612	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120 VOLT SERVICE, LIGHTING ONLY	5.00	0.00	5.00	EA	5.00	\$17,720.00	\$88,600.0
	Project J	SE0169 - To	tal Value	Posted to D	Date as of Report Generated Date							\$1,307,773.6
.0517-H	08 Overall	l - Total Val	ue Poste	d to Date as	of Report Generated Date							\$1,307,773.68

Revision 5/29/2025 Page 5 of 12



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSE0169

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	6169901	MISC.	9/11/25	9/16/25	1	0.15	LS	Location 33	0		0		
0120		LIGHTING POLE, 45 FT. OR 13.5 M, TYPE AT	9/11/25		1	1.00		Location 33 (P-33A)	0		0		
				9/16/25	2	1.00		Location 33 (P-33B)	0		0		
				9/16/25	3	1.00		Location 33 (P-33C)	0		0		
				9/16/25	4	1.00		Location 33 (P-33D)	0		0		
0130	9011115	BRACKET ARM, 15 FT. OR 4.6 M	9/11/25	9/16/25	1	1.00		Location 33 (P-33A)	0		0		
				9/16/25	2	1.00		Location 33 (P-33B)	0		0		
				9/16/25	3	1.00		Location 33 (P-33C)	0		0		
				9/16/25	4	1.00	EA	Location 33 (P-33D)	0		0		
0140	9011313	LUMINAIRE, LED-C	9/11/25	9/16/25	1	1.00		Location 33 (P-33A)	0		0		
				9/16/25	2	1.00		Location 33 (P-33B)	0		0		
				9/16/25	3	1.00		Location 33 (P-33C)	0		0		
				9/16/25	4	1.00	EA	Location 33 (P-33D)	0		0		
0150	9012230	BASE MOUNTED CONTROL STATION	9/11/25	9/16/25	1	1.00		Location 33	0		0		
0160		CONDUIT, 2 IN. RIGID, IN TRENCH		9/16/25	1	77.00		Location 33 (P Supply Exist to CONT)	0		0		
0170	9013004	CONDUIT, 4 IN. RIGID, IN TRENCH		9/16/25	1	46.00		Location 33 (CONT to PB-33A)	0		0		
0180		CONDUIT, 3 IN. RIGID, PUSHED		9/16/25	1	90.00		Location 33 (PB-33A to PB-33B)	0		0		
				9/16/25	2	204.00		Location 33 (PB-33B to P-33C)	0		0		
				9/16/25	3	91.00	LF	Location 33 (PB-33C to P-33D)	0		0		
0190	9015010	TRENCHING TYPE I	9/11/25	9/16/25	1	14.00	LF	Location 33 (PB-33A to P-33A)	0		0		
				9/16/25	2	95.00	LF	Location 33 (PB-33B to P-33B)	0		0		
				9/16/25	3	34.00		Location 33 (PB-33C to P-33C)	0		0		
				9/16/25	4	89.00	LF	Location 33 (PB-33D to P-33D)	0		0		
0200	9016110	PULL BOX, PREFORMED CLASS 1	9/11/25	9/16/25	1	1.00	EA	Location 33 (PB-33B)	0		0		
				9/16/25	2	1.00	EA	Location 33 (PB-33C)	0		0		
				9/16/25	3	1.00	EA	Location 33 (PB-33D)	0		0		
0210	9016112	PULL BOX, PREFORMED CLASS 3	9/11/25	9/16/25	1	1.00	EA	Location 33 (PB-33A)	0		0		
0220	9017002	CABLE, 2 AWG 1 CONDUCTOR	9/11/25	9/16/25	1	267.00	LF	Location 33 (P Supply Exist to CONT)	0		0		
0230	9017110	CABLE, 10 AWG 1 CONDUCTOR, POLE & BRACKE	9/11/25	9/16/25	1	120.00	LF	Location 33 (P-33A)	0		0		
				9/16/25	2	120.00	LF	Location 33 (P-33B)	0		0		
				9/16/25	3	120.00	LF	Location 33 (P-33C)	0		0		
				9/16/25	4	120.00		Location 33 (P-33D)	0		0		
0250	9017407	CABLE-CONDUIT, 1 IN., 2 CONDUCTORS	9/11/25	9/16/25	1	54.00	LF	Location 33 (CONT to PB-33A)	0		0		
				9/16/25	2	22.00	LF	Location 33 (PB-33A to P-33A)	0		0		
				9/16/25	3	201.00	LF	Location 33 (PB-33A to P-33B)	0		0		
				9/16/25	4	255.00		Location 33 (PB-33B to P-33C)	0		0		
				9/16/25	5	196.00	LF	Location 33 (PB-33C to P-33D)	0		0		
0260	9018245	POLE FOUNDATION (45 FT. OR 13.5 M	9/11/25	9/16/25	1	1.00		Location 33 (P-33A)	0		0		
				9/16/25	2	1.00	EA	Location 33 (P-33B)	0		0		
				9/16/25	3	1.00		Location 33 (P-33C)	0		0		
				9/16/25	4	1.00		Location 33 (P-33D)	0		0		

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 6 of 12



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks																									
JSE0169	0030	MISC.	Material		1	Apr 16, 2025	SYSTEM	(\$13,000.00)																										
					1	Apr 16, 2025	SYSTEM	\$13,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thomar1 overridding Payment Estimate Exception 1 on the current Payment Estimate.																									
					2	May 1, 2025	SYSTEM	(\$13,000.00)																										
					2	May 1, 2025	SYSTEM	\$13,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 1 on the current Payment Estimate.																									
				- Total				\$0.00																										
			Material - Tota					\$0.00																										
		Total						\$0.00																										
	0060	MULCHING	Material		2	May 1, 2025	SYSTEM	(\$3,300.00)																										
					2	May 1, 2025	SYSTEM	\$3,300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thomar1 overridding Payment Estimate Exception 2 on the current Payment Estimate.																									
					3	May 15, 2025	SYSTEM	(\$3,800.00)																										
					4	Jun 2, 2025	SYSTEM	(\$4,050.00)																										
					5	Jun 16, 2025	SYSTEM	(\$4,550.00)																										
												6	Jul 1, 2025	SYSTEM	(\$4,750.00)																			
					7	Jul 16, 2025	SYSTEM	(\$5,250.00)																										
																															8	Aug 4, 2025	SYSTEM	(\$5,800.00)
																	9	Aug 18, 2025	SYSTEM	(\$6,550.00)														
					10	Sep 2, 2025	SYSTEM	(\$7,750.00)																										
					11	Sep 16, 2025	SYSTEM	(\$7,750.00)																										
				- Total				(\$50,250.00)																										
			Material - Tota	l				(\$50,250.00)																										
			MaterialCredit		4	Jun 2, 2025	SYSTEM	\$3,800.00																										
					5	Jun 16, 2025	SYSTEM	\$4,050.00																										
					6	Jul 1, 2025	SYSTEM	\$4,550.00																										
					7	Jul 16, 2025	SYSTEM	\$4,750.00																										
					8	Aug 4, 2025	SYSTEM	\$5,250.00																										
					9	Aug 18, 2025	SYSTEM	\$5,800.00																										
					10	Sep 2, 2025	SYSTEM	\$6,550.00																										
					11	Sep 16, 2025	SYSTEM	\$7,750.00																										
				- Total				\$42,500.00																										
			MaterialCredit	- Total				\$42,500.00																										
		- Total						(\$7,750.00)																										
	0070	TURF TYPE TALL FESCUE SODDING	Material		4	Jun 2, 2025	SYSTEM	(\$3,750.00)																										
		CODDIING			5	Jun 16, 2025	SYSTEM	(\$3,750.00)																										



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
JSE0169	0070	TURF TYPE TALL FESCUE	Material		6	Jul 1, 2025	SYSTEM	(\$3,750.00)		
		SODDING			7	Jul 16, 2025	SYSTEM	(\$3,750.00)		
					8	Aug 4, 2025	SYSTEM	(\$3,750.00)		
					9	Aug 18, 2025	SYSTEM	(\$3,750.00)		
					10	Sep 2, 2025	SYSTEM	(\$3,750.00)		
					11	Sep 16, 2025	SYSTEM	(\$3,750.00)		
				- Total				(\$30,000.00)		
			Material - Tota	ıl				(\$30,000.00)		
			MaterialCredit		5	Jun 16, 2025	SYSTEM	\$3,750.00		
					6	Jul 1, 2025	SYSTEM	\$3,750.00		
					7	Jul 16, 2025	SYSTEM	\$3,750.00		
					8	Aug 4, 2025	SYSTEM	\$3,750.00		
					9	Aug 18, 2025	SYSTEM	\$3,750.00		
					10	Sep 2, 2025	SYSTEM	\$3,750.00		
						11	Sep 16, 2025	SYSTEM	\$3,750.00	
				- Total				\$26,250.00		
			- Total  MaterialCredit - Total					\$26,250.00		
			matoriarorcan	. rotar						
	0070 -	- Total		Total				(\$3,750.00)		
		SEEDING - COOL	Material	Total	2	May 1, 2025	SYSTEM			
		SEEDING -		local	2		SYSTEM SYSTEM	(\$3,750.00)	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user thomar1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	
		SEEDING - COOL SEASON		, soul		2025 May 1,		<b>(\$3,750.00)</b> (\$1,650.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			2	2025 May 1, 2025 May 15,	SYSTEM	(\$3,750.00) (\$1,650.00) \$1,650.00	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			3	2025 May 1, 2025 May 15, 2025 Jun 2,	SYSTEM SYSTEM	(\$3,750.00) (\$1,650.00) \$1,650.00 (\$1,900.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			3 4	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16,	SYSTEM SYSTEM	(\$3,750.00) (\$1,650.00) \$1,650.00 (\$1,900.00) (\$2,025.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			3 4 5	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16, 2025 Jul 1,	SYSTEM SYSTEM SYSTEM	(\$3,750.00) (\$1,650.00) \$1,650.00 (\$1,900.00) (\$2,025.00) (\$2,275.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			2 3 4 5	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$3,750.00) (\$1,650.00) (\$1,650.00 (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			2 3 4 5 6 7	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$3,750.00) (\$1,650.00) (\$1,650.00 (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00) (\$2,625.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			2 3 4 5 6 7 8 9	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 18, 2025	SYSTEM	(\$3,750.00) (\$1,650.00) (\$1,650.00) (\$1,650.00) (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00) (\$2,625.00) (\$2,900.00) (\$3,275.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON			2 3 4 5 6 7 8	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16, 2025 Jul 11, 2025 Aug 4, 2025 Aug 18, 2025 Sep 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$3,750.00) (\$1,650.00) (\$1,650.00) (\$1,650.00) (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,625.00) (\$2,625.00) (\$2,900.00) (\$3,275.00) (\$3,875.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON	Material	- Total	2 3 4 5 6 7 8 9	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 18, 2025 Sep 2, 2025	SYSTEM	(\$3,750.00) (\$1,650.00) (\$1,650.00) (\$1,650.00) (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00) (\$2,625.00) (\$2,900.00) (\$3,275.00) (\$3,875.00) (\$3,875.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON	Material - Tota	- Total	2 3 4 5 6 7 8 9 10	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16, 2025 Jul 1, 2025 Aug 4, 2025 Aug 18, 2025 Sep 2, 2025	SYSTEM	(\$3,750.00) (\$1,650.00) \$1,650.00 (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00) (\$2,625.00) (\$2,900.00) (\$3,275.00) (\$3,875.00) (\$3,875.00) (\$25,125.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON	Material	- Total	2 3 4 5 6 7 8 9	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 18, 2025 Sep 2, 2025	SYSTEM	(\$3,750.00) (\$1,650.00) (\$1,650.00) (\$1,650.00) (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00) (\$2,625.00) (\$2,900.00) (\$3,275.00) (\$3,875.00) (\$3,875.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	
		SEEDING - COOL SEASON	Material - Tota	- Total	2 3 4 5 6 7 8 9 10	2025 May 1, 2025 May 15, 2025 Jun 2, 2025 Jun 16, 2025 Jul 1, 2025 Jul 16, 2025 Aug 4, 2025 Aug 18, 2025 Sep 2, 2025 Sep 16, 2025	SYSTEM	(\$3,750.00) (\$1,650.00) \$1,650.00 (\$1,900.00) (\$2,025.00) (\$2,275.00) (\$2,375.00) (\$2,625.00) (\$2,900.00) (\$3,275.00) (\$3,875.00) (\$3,875.00) (\$25,125.00)	Estimate Item Adjustment (0004) due to user thomar1 overridding Payment	



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
roject	Lino	Возоприот	Туре	Adjustment Type	Number	Date	Ву	Amount	Kemene
JSE0169	0800	SEEDING - COOL	MaterialCredit			2025			
		SEASON GRASSES			7	Jul 16, 2025	SYSTEM	\$2,375.00	
					8	Aug 4, 2025	SYSTEM	\$2,625.00	
					9	Aug 18, 2025	SYSTEM	\$2,900.00	
					10	Sep 2, 2025	SYSTEM	\$3,275.00	
					11	Sep 16, 2025	SYSTEM	\$3,875.00	
				- Total				\$21,250.00	
			MaterialCredit	- Total				\$21,250.00	
	0080	Total						(\$3,875.00)	
	0120	LIGHTING POLE, 45 FT. OR 13.5 M,	Material		2	May 1, 2025	SYSTEM	(\$28,107.00)	
		TYPE AT			2	May 1, 2025	SYSTEM	\$28,107.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user thomar1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0120 -	Total						\$0.00	
	0130	BRACKET ARM, 15 FT. OR 4.6 M	Material		2	May 1, 2025	SYSTEM	(\$10,899.00)	
					2	May 1, 2025	SYSTEM	\$10,899.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user thomar1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0130 -	Total						\$0.00	
	0140	LUMINAIRE, LED-C	Material		2	May 1, 2025	SYSTEM	(\$3,357.00)	
					2	May 1, 2025	SYSTEM	\$3,357.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user thomar1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0140 -	Total						\$0.00	
	0150	BASE MOUNTED	Material		1	Apr 16, 2025	SYSTEM	(\$9,750.00)	
		MOUNTED CONTROL STATION			1	Apr 16, 2025	SYSTEM	\$9,750.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user thomar1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	May 1, 2025	SYSTEM	(\$19,500.00)	
					2	May 1, 2025	SYSTEM	\$19,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user thomar1 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0150 -	Total						\$0.00	
	0160	CONDUIT, 2 IN. RIGID, IN TRENCH	Material		2	May 1, 2025	SYSTEM	(\$209.00)	
					2	May 1, 2025	SYSTEM	\$209.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user thomar1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0160	Total						\$0.00	



ct L	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
69 0	)170	CONDUIT, 4 IN. RIGID, IN	Material		1	Apr 16, 2025	SYSTEM	(\$900.00)		
		TRENCH			1	Apr 16, 2025	SYSTEM	\$900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user thomar1 overridding Paymen Estimate Exception 3 on the current Payment Estimate.	
					2	May 1, 2025	SYSTEM	(\$1,530.00)		
					2	May 1, 2025	SYSTEM	\$1,530.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user thomar1 overridding Paymen Estimate Exception 13 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	1				\$0.00		
0	170	Total						\$0.00		
0	0180	CONDUIT, 3 IN. RIGID, PUSHED	Material		1	Apr 16, 2025	SYSTEM	(\$18,720.00)		
		. 661.125			1	Apr 16, 2025	SYSTEM	\$18,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user thomar1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					2	May 1, 2025	025			
				2	May 1, 2025	SYSTEM	\$31,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user thomar1 overridding Payme Estimate Exception 14 on the current Payment Estimate.		
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
0	180 -	Total						\$0.00		
0	0200 PULL PREF	PULL BOX, PREFORMED CLASS 1	PREFORMED	Material		2	May 1, 2025	SYSTEM	(\$14,784.00)	
					2	May 1, 2025	SYSTEM	\$14,784.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user thomar1 overridding Payment Estimate Exception 15 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
0	200 -	Total						\$0.00		
			Material		2	May 1	CVCTEM			
U	J2 10	PULL BOX, PREFORMED CLASS 3	Material	iteriai		May 1, 2025	SYSTEM	(\$4,606.00)	This advanced off the distribution of the dist	
					2	May 1, 2025	SYSTEM	\$4,606.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user thomar1 overridding Payme Estimate Exception 16 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
0	210 -	Total						\$0.00		
0	)220	CABLE, 2 AWG 1	Material		2	May 1, 2025	SYSTEM	(\$821.25)		
		CONDUCTOR			2	May 1, 2025	SYSTEM	\$821.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user thomar1 overridding Payment Estimate Exception 17 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	1				\$0.00		
0	1220	Total						\$0.00		
			Motorial		2	Mey 4	CVCTEM			
0	J23U	CABLE, 10 AWG 1 CONDUCTOR,	Material		2	May 1, 2025 May 1,	SYSTEM	(\$1,058.40) \$1,058.40	This adjustment offsets the original system-generated Material Payment	
	POLE 8	BRACKE			_	2025	STOTEIVI		Estimate Item Adjustment (0014) due to user thomar1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	
				- Total				\$0.00		
			Material - Tota	ıl				\$0.00		
0	230 -	Total						\$0.00		
0	250	CABLE- CONDUIT, 1	Material		2	May 1, 2025	SYSTEM	(\$2,815.20)		





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSE0169	0250	IN., 2 CONDUCTORS	Material		2	May 1, 2025	SYSTEM	\$2,815.20	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user thomar1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0250 -	- Total						\$0.00	
	0260	POLE FOUNDATION (45 FT. OR 13.5 M	Material		2	May 1, 2025	SYSTEM	(\$14,022.00)	
					2	May 1, 2025	SYSTEM	\$14,022.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user thomar1 overridding Payment Estimate Exception 20 on the current Payment Estimate.
			Material - Total					\$0.00	
	0260 - Total							\$0.00	
	0270	POWER SUPPLY ASSEMBLY, TYPE 2, 240/120	Material		1	Apr 16, 2025	SYSTEM	(\$17,720.00)	
					1	Apr 16, 2025	SYSTEM	\$17,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user thomar1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					2	May 1, 2025	SYSTEM	(\$17,720.00)	
					2	May 1, 2025	SYSTEM	\$17,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user thomar1 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
0270 - Total							\$0.00		
JSE0169 - Total							(\$15,375.00)		
		Overall - Total							

# MoDOT

### Contract Adjustments for Contract - 240517-H08

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 12 of 12